

Quality Learning and Superior Performance for All

PURCHASING DEPARTMENT

2150 Keith Bridge Rd. Cumming, GA 30040 Phone: 770-781-6603 Fax: 770-888-0222

March 20, 2024

Athens Janitor Supply Co., Inc. 900 Old Hull Road Athens, GA 30601 Attn: John C. Chittom

Dear Mr. Chittom:

This is to advise you that your company has been awarded a contract from our recent **BID# B24-03**, **Diversey & SC Johnson Products**. The effective date of this contract is March 20, 2024 and terminates on upon successful delivery of product to FCS.

This award is in accordance with the terms and conditions of the contract and with your attached pricing to remain firm as per the contract terms. This award letter is not an official order.

If you have any questions about this award, please contact Trey Tryan at 770-781-6603 or ttryan@forsyth.k12.ga.us. We appreciate your interest in the Forsyth County School System and your participation in our bidding process.

Sincerely,

Brad Richardson

Director of Procurement Services

FORSYTH COUNTY SCHOOL SYSTEM

PURCHASING DEPARTMENT

B24-03, Diversey& SC		Athens Janitor		
Johnson Products	Etsimated Case Quantity	Make & Model Bid	Case Cost	Extended Cost
SC Johnson Hand Sanitizer # 55857	120	As Spec	\$34.25	\$4,110.00



2150 Keith Bridge Rd. Cumming, GA 30040 Phone: 770-781-6603 Fax: 770-888-0222

Quality Learning and Superior Performance for All

March 20, 2024

Kamo Manufacturing 1326 Reynolds St. Augusta, GA 30901 Attn: Harris Weinstein

Dear Mr. Weinstein:

This is to advise you that your company has been awarded a contract from our recent **BID# B24-03**, **Diversey & SC Johnson Products**. The effective date of this contract is March 20, 2024 and terminates on upon successful delivery of product to FCS.

This award is in accordance with the terms and conditions of the contract and with your attached pricing to remain firm as per the contract terms. This award letter is not an official order.

If you have any questions about this award, please contact Trey Tryan at 770-781-6603 or ttryan@forsyth.k12.ga.us. We appreciate your interest in the Forsyth County School System and your participation in our bidding process.

Sincerely,

Brad Richardson

Director of Procurement Services

FORSYTH COUNTY SCHOOL SYSTEM

PURCHASING DEPARTMENT

B24-03, Diversey& SC Johnson Products			KAMO	KAMO	
	Etsimated Case Quantity	Make & Model Bid	Case Cost	Extended Cost	
SC Johnson Hand Soap # AZU1L	2400	As Spec	\$34.79	\$83,496.00	



2150 Keith Bridge Rd. Cumming, GA 30040 Phone: 770-781-6603 Fax: 770-888-0222

March 20, 2024

Pollock Investments Inc. 105 Lakeview Court SW Atlanta, GA 30336 Attn: Melissa Williams

Dear Ms. Williams:

This is to advise you that your company has been awarded a contract from our recent **BID# B24-03**, **Diversey & SC Johnson Products**. The effective date of this contract is March 20, 2024 and terminates on upon successful delivery of product to FCS.

This award is in accordance with the terms and conditions of the contract and with your attached pricing to remain firm as per the contract terms. This award letter is not an official order.

If you have any questions about this award, please contact Trey Tryan at 770-781-6603 or ttryan@forsyth.k12.ga.us. We appreciate your interest in the Forsyth County School System and your participation in our bidding process.

Sincerely,

Brad Richardson

Director of Procurement Services

FORSYTH COUNTY SCHOOL SYSTEM

PURCHASING DEPARTMENT

B24-03, Diversey& SC			Pollock Investment		
Johnson Products	Etsimated Case Quantity	Make & Model Bid	Case Cost	Extended Cost	
Diversey Carefree Floor Finish Sealer #5104731	1040	As Spec	\$90.26	\$93,870.40	
Diversey Crew # 101102190	462	As Spec	\$169.05	\$78,101.10	
Diversey Bravo Heavy Duty Stripper # 95115958	400	As Spec	\$50.74	\$20,296.00	
Diversey Stride #904716	264	As Spec	\$142.99	\$37,749.36	
Diversey Glance # 100975197	198	As Spec	\$63.23	\$12,519.54	
Diversey Prominence # 94996466	99	As Spec	\$113.05	\$11,191.95	
Diversey Forward # 904965	33	As Spec	\$63.41	\$2,092.53	